AWPEFEANBERYvH—HhE —REFEEAEEGAEANYVH—ER

R

[ J
SEHSAYYH—2H

2EEY Y h—Fr EF L XV—-52024 1859k AGNV—T%E2H (8]

ENHINOHLIRD

B 12024211 B9B (L) 13:30 [IAH 905 | £55% BHIR—YTHROEPOHYHIkES, BHE
X & | S B 210C| 8 E 123% | B 5 [EvyFEI2ERZ | WBGT | — —
IyFaIviaF—i/\B Bk I B BRE Bl 2 2 (B3 EKER EEEL N BEY
BHT7 v — FHEK FER Bl E1IBR B gosna =B SR SCERENIEE Rt 321 A
1 IS 0
JrORoOo/REpE 1 0 B 0 0 FCISE-SHIMA
(hiH/ BIBR) (RfB/=ER) KicKoFF
KR Sa—k o . ol el - . Ya—k TR
No. ﬁ(;lﬂTB%ﬁaﬁ % m = Ba EFE BE(LB|IE|ES Z2F A T A OUT;;;Eﬁ No.
0 TR 5 1|GK|GK| 1|#EHE % 0
0 A & 4| DF|DF| 3|¥EH EH 1 1 135
0 &0 ThEe 5|DF|DF| 6|E=F &3 0
0 A X (Cap.) 6|DF|DF| 29|tE E& 0
2% 11 2 i = 10{|MF|MF| 7|F% Bt 0
0 Xx&E LXK 17|MF|MF| 8|&ER E5T 0
0 i BX 23| MF|MF| 20|f##& K35 0 6945
90+14%» 1 1| 1|\ X 9| FWIMF| 21|F%F =& 0 575>
124y 11 LEXB #BA 13| FW|MF| 30|# 1 ESJL E¥F (Cap.) 1 1 HT
655> 0 WA BX 27|FW|Fw| 9|&EH =12 1 1
90+14% 1 1 thill B 28| FW]FW| 14|50 =5 0 699
1-OX 32(ck|GK| 18|%— Cx—LX /T4
217 0 BiE & 16| DF|DF| 5|®=H ER 0 30
9 0 HE A 18| DF|MF| 4|&0 A3t 0 20
13 0 FHE BX 8| MFIMF| 13|11 Bth 0 3
28 0 I & 14| MF|MF| 19|45 K% 0 21
HmAHE 11| FW|MF| 33|HEF B X
10 0 BB ERk 26| FW|Fw| 17(&0 BR& 0 14
INFEA &5F Bk 825 | TiHEH RAK =Y
B0 snaw | %
11 4| 5/¥a—k| 3] 11 2
1 2| 3 GK 8 71
2 2| 4| cK 4 1 3
8 6| 14| EEFK| 4| 0 4
2; 0| 2|RIEFK| 4| 20 2
2i 0| 2[4 4] 2 2
0 0| o PK ol 0 0
BaEE| BAF—L4 [No. BEBRF 237 |BEEE BEH: ~FUJ)L —-30/8% 2S8R B S>a—F HAT LS
294y |vzozyosz| QiU HEAX 1-0 k-2 | EEFK 6 1 -1 9 aFTL-i BES
(&) BT446:23(01:23) . #%2$50:41(05:41), RHAFAERR 01:52:34

[&#&]



